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3. (a) Change to exponential form the following expressions:

log2 32 = 5 ln m = 3x + 4 log6(2x − 1) = 3.

(a) Change to logarithmic form the following expressions:

43 = 64 3x = 4 − t 3−2x =
P

F
.

pts: /6

4. Write the following expression as one logarithm:

2 log
y3

x
− 3 log y +

1

2
log(x4y2).

pts: /6



5. Solve the equation:
42x+3 = 5x−2

pts: /6

6. Solve the equation:
log(

√

x) =
√

log x.

pts: /6



7. Find the exact values of the remaining trigonometric functions for the acute angle θ such
that:

cos θ =
4

5
.

pts: /6

8. Verify the identity
1

(1 + sin ϕ)(1 − sin ϕ)
= sec2 ϕ

by transforming the left-hand side into the right-hand side.

pts: /6



9. Refer to the graph of y = sin x to find the exact values of x in the interval [0, 4π] that
satisfy the equation:

sin x = −

√

2

2
.

pts: /6

10. Use reference angles to find the exact values of

tan
(

−
π

3

)

sin(−315◦) cos
(

11

6
π

)

sec(−210◦)

pts: /6




